Exercise 7.1

16. Solution: #{e'cos t} = 25;1, s>1.
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31. Solution: Z{4#* — 5 sin 3¢} = 4——5— .
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40. Hint: cos(¢ —Z) =——cos{+—sin¢. Solution: 5x— .
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50. Hint: use the superposition principle.

Exercise 7.2

24. Solution: l—e’ ——e +£e2t.
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38. Solution: y = Let —Lcos 5t+isin 5t .
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51. Solution: zero-input response is Z - Ze‘” , ZEro-state response 1S %e

Exercise 7.3

16. Solution: y = 2¢™>' cos 5¢ —%e” sin 5¢ .

29. Solution: y = l—let cost+le’ sinz.
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48. Solution: y = —2At —2) — (t — 2) Ut —2) + 2 Ut - 2).
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56. Solution: Z{f(f)} = l—
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